

$$\int_0^{2\pi} \cos^m \theta \, d\theta =$$

$$\cos \theta = \frac{e^{i\theta} + e^{-i\theta}}{2}$$

$$\cos^m \theta = \left(\frac{1}{2}\right)^m (e^{i\theta} + e^{-i\theta})^m$$

$$= \left(\frac{1}{2}\right)^m \sum_{k=0}^m \binom{m}{k} (e^{i\theta})^k (e^{-i\theta})^{m-k}$$

$$= \left(\frac{1}{2}\right)^m \sum_{k=0}^m \binom{m}{k} e^{k i\theta + (m-k)(-i\theta)}$$

$$= \left(\frac{1}{2}\right)^m \sum_{k=0}^m \binom{m}{k} e^{(-m+2k)i\theta}$$

$$z = e^{i\theta}$$

$$dz = i e^{i\theta} d\theta$$

$$d\theta = \frac{dz}{iz}$$

$$\int_0^{2\pi} \cos^m \theta \, d\theta = \oint_{|z|=1} \left(\frac{1}{2}\right)^m \sum_{k=0}^m \binom{m}{k} z^{(2k-m)} \frac{dz}{iz}$$

$$\int_0^{2\pi} \cos^m \theta \, d\theta = \left(\frac{1}{2}\right)^m \oint_{|z|=1} \dots$$

$$|z|=1$$

$$= -i \left(\frac{1}{2}\right)^m \sum_{k=0}^m \binom{m}{k} \oint_{|z|=1} z^{2k-m-1} \, dz$$

$$0 - \sqrt{-1} \Rightarrow \text{res} \Rightarrow \text{res} \Rightarrow \text{res}$$

$$\oint_{|z|=1} z^n \, dz = \begin{cases} 0, & n \neq -1 \\ 2\pi i, & n = -1 \end{cases}$$

$$|z|=1 \Rightarrow z^k \text{ etc}$$

$$2k - m - 1 = -1$$

$$2k - m = 0$$

$$k = \frac{m}{2}$$

$$\text{res} \Rightarrow \text{res}, \text{res} \Rightarrow \text{res}$$

$$2\pi i \quad -\sqrt{-1}$$

$$\int_0^{2\pi} \cos^m \theta \, d\theta = -i \left(\frac{1}{2}\right)^m \binom{m}{\frac{m}{2}} 2\pi i$$

$$= 2^{-m+1} \binom{m}{\frac{m}{2}} \pi.$$